dllog-20080202-164734.fits - OPD error. Test description: Trolley reversal test at +0.00000125m/<. (Test Run passed)

OPD error: Mean = 2060.8nm (passed); pk-pk = 175.56nm (passed); RMS = 41.273nm
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RMS values of 10ms segments: Mean = 6.35nm; Median = 6.14nm; Mode = 5.47nm; RMS = 1.88nm(passed).
Number of times threshold exceeded for 10 segments or more = 0 and total time whilst exceeded = O0ms (passed).
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RMS values of 35ms segments: Mean = 6.95nm; Median = 6.88nm; Mode = 6.2nm; RMS = 1.44nm (passed).
Number of times threshold exceeded for 10 segments or more = 0 and total time whilst exceeded = Oms (passed).
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RMS values of 50ms segments: Mean = 7.04nm; Median = 7.03nm; Mode = 7.07nm; RMS = 1.32nm (passed).
Number of times threshold exceeded for 10 segments or more = 0 and total time whilst exceeded = O0ms (passed).
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10ms segment data (passed)
0.0333% > 15nm and 0% > 30nm.
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35ms segment data (passed)
0% > 41nm and 0% > 82nm.
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50ms segment data (passed)
0% > 55nm and 0% > 110nm.
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